

$b(E) \times 10^6$  [cm<sup>2</sup>g<sup>-1</sup>] for  
rhodium (Rh),  $Z = 45$ ,  $A = 102.90550(2)$

E [GeV]	$b_{\text{brems}}$	$b_{\text{pair}}$	$b_{\text{nucl}}$	$b_{\text{tot}}$
2.	1.2689	0.5331	0.3882	2.1902
5.	1.7450	1.4746	0.4148	3.6344
10.	2.1320	2.2052	0.3964	4.7336
20.	2.5291	2.9196	0.3856	5.8343
50.	3.0509	3.9817	0.3744	7.4070
100.	3.4242	4.6934	0.3663	8.4838
200.	3.7678	5.3326	0.3624	9.4628
500.	4.1580	5.9271	0.3624	10.4474
1000.	4.3962	6.2460	0.3681	11.0103
2000.	4.5839	6.4779	0.3771	11.4390
5000.	4.7606	6.6732	0.3938	11.8276
10000.	4.8493	6.7640	0.4103	12.0236
20000.	4.9087	6.8232	0.4296	12.1616
50000.	4.9582	6.8680	0.4597	12.2859
100000.	4.9806	6.8867	0.4853	12.3525